Adventure of Link

Platformer Mechanics Explained

##################################################################################

################################Horizontal Speed ###################################

##################################################################################

Variable names used for explanation purposes

*hspeed for speed curve

*x for x coordinate

Constants/Consistences

*x is always limited to a whole number format.

*x is always increased/decreased by 1

general formula:   


 x = x +/- 1 at an interval of interval = (scan_rate(NTSC is 60.0998) / hspeed)

Directions


Right

A. If the player press right on the d-pad from a stand-still:


1. hspeed begins to increase by 1 per scan-rate until it reaches a value of [24]


2. x is then increased by 1 at a rate of (60hz / hspeed) which at maximum hspeed is [2.5]


3. so for every 2.5 frames (approx.) ,  x is increased by 1


4. This gives the visual of moving 24 pixels in one second.

B. If the player releases right/or presses left and right:


1. hspeed is decreased by 1 per clock-rate until is reaches a value of [0]


2. x is then increased by 1 at a rate of (60hz / hspeed).


3. Example:



So at [10] hspeed, x is increased by 1 every 6 frames if hspeed is locked in at [10].


4. This gives the visual of slowing down.

C. If the player releases right and presses left:


hspeed is decreased by 2 until it reaches [0] then Left occurs.


Then ( see – Right B 2).


Left  

A.  If the player presses left on the d-pad from a stand-still:


1. hspeed is decreased by 1 per scan-rate starting at a value of [255] until it reaches [231]


2. It is assumed right now that anything greater than 128 is used as a negative hspeed


Further theories in progress :3

